8.3fb~! (13 TeV), 2016A

700GeV Xi (T = 0.3ns)

700GeV Xi (T = 3.3ns)

700GeV i (T = 33ns)

total

trigger

passes piss filters

piRiss > 100 GeV

> 1jet with pr > 110 GeV

Apmax < 2.5

|A¢(leading jet, piss)| > 0.5

> 1 track with |7] < 2.1

> 1 track with pr > 55 GeV

> 1 track passing fiducial selections

> 1 track with > 3 pixel hits

> 1 track with > 7 tracker hits

> 1 track with no missing inner hits

> 1 track with no missing middle hits
> 1 track with relative track isolation < 5%
> 1 track with |dp| < 0.02cm

> 1 track with |zp| < 0.5cm

> 1 track with AR(track, jet) > 0.5

> 1 track with AR(track, electron) > 0.15
> 1 track with AR(track, muon) > 0.15
> 1 track with AR(track, 7,) > 0.15

> 1 track with E;, < 10GeV

> 1 track with > 3 missing outer hits

116 +1
19.2+£0.2
19.1+£0.2
19.1£0.2
16.4+£0.2
14.0£0.2
14.0£0.2
13.7£0.2
54+0.1

3.71£0.09
2.73+0.08
1.71 £0.06
1.70 £0.06
1.37 £0.06
0.16 £ 0.02
0.16 £0.02
0.16 - 0.02
0.16 £0.02
0.15+0.02
0.15+0.02
0.15+0.02
0.15+0.02
0.15+0.02

116 +1
21.8+0.2
21.8+0.2
21.34+0.2
17.3£0.2
149 +£0.2
149 £0.2
14.8 £0.2
11.5+£0.2
8.440.1
72£01
58+0.1
58+0.1
4.8+0.1
3.8+0.1
3.8+0.1
3.8+0.1
3.8+0.1

3.53+£0.09
3.46 £0.09
3.46 +0.09
3.37 £ 0.09
2.01£0.07

116 +1
23.8+0.2
23.7+0.2
229402
179+£0.2
154+£0.2
154£0.2
153£0.2
13.9+£0.2
10.3£0.2
9.0£0.2
8702
87+0.2
6.6+0.1
58+0.1
58+0.1
58+0.1
57£0.1
50£0.1

2.03 £0.07
2.03 +£0.07
1.95£0.07
0.55 +0.04



